Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to
support? / Well, which party would you say you would lean towards?

e T T e T T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H

Base: All Answering (unwtd) 814 317 202 179 55 19 30 12 - -

Base: All Answering (wtd) 807 374 159 138 69 19 33 14 - -

374 374 - - - - - - - -

The Conservative Party 46% 100% - - - - - - - -
BCD * k¥ k¥ k¥

159 - 159 - - - - - - -

The Liberal Party 20% - 100% - - - - - - -
ACD * * %k * ¥ * ¥

138 - - 138 - - - - - -

The New Democratic Party (NDP) 17% - - 100% - - - - - -
ABD * * %k k¥ k¥

69 - - - 69 - - - - -

The Bloc Quebecois (BQ) 9% - - - 100% - - - - -
ABC* * %k * ¥ * ¥

19 - - - - 19 - - - -

The Green Party 2% - - - - 100% - - - -
* * %k k¥ k¥

33 - - - - - 33 - - -

The People's Party of Canada 4% - - - - - 100% - - -
* * %k * ¥ * ¥

14 - - - - - - 14 - -

Or some other party 2% - - - - - - 100% B -
* * %k k¥ k¥

807 374 159 138 69 19 33 14 - -

Sigma 100% 100% 100% 100% 100% 100% 100% 100% - -




Thinking about Justin Trudeau's resignation as leader of the Liberal Party, from what you have seen, read, or heard, would you say that you strongly approve,
somewhat approve, somewhat disapprove or strongly disapprove of his resignation?

e

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (8Q) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
807 329 112 106 61 16 31 6 51 95
Top 2 Box (Net) 81% 88% 70% 76% 88% 86% 94% 46% 75% 76%
BCI B* k¥ k¥ k¥ * *
506 263 37 48 42 11 17 5 35 49
Strongly approve 51% 70% 23% 35% 60% 55% 53% 33% 52% 39%
BCHI Bcl* * %k * ¥ * ¥ B* B*
301 66 75 57 19 6 14 2 16 46
Somewhat approve 30% 18% 47% 41% 28% 31% 41% 13% 24% 37%
ADH A * * %k k¥ k¥ * A*
193 45 47 33 9 3 2 7 17 31
Bottom 2 Box (Net) 19% 12% 30% 24% 12% 14% 6% 54% 25% 24%
AD A * * %k * ¥ * ¥ * A*
114 14 32 26 3 3 - 6 12 17
Somewhat disapprove 11% 4% 20% 19% 5% 14% - 45% 18% 14%
AD AD * * %k k¥ k¥ A* A*
79 31 15 7 5 - 2 1 5 13
Strongly disapprove 8% 8% 9% 5% 7% - 6% 9% 7% 11%
* * %k * ¥ * ¥ * *
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




How would you rate the overall performance of Justin Trudeau during his time as Prime Minister of Canada?

e

The The Liberal | The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
38 - 24 5 3 - - 1 - 6
A 4% - 15% 4% 4% - - 5% - 4%
ACHl A A* k¥ k¥ k¥ * A*
162 15 86 36 7 3 3 1 2 10
B 16% 4% 54% 26% 9% 15% 10% 7% 3% 8%
ACDHI ADH' * * ¥ * ¥ * ¥ * *
196 39 35 41 16 6 10 * 16 34
C 20% 10% 22% 30% 23% 29% 30% 3% 23% 27%
A A A* * %k k¥ k¥ A* A*
148 64 4 26 8 - 5 8 15 19
D 15% 17% 2% 19% 12% - 14% 60% 23% 15%
B B B* * ¥ * ¥ * ¥ B* B*
384 252 6 22 28 9 15 4 17 32
F - Fail 38% 67% 4% 16% 40% 46% 46% 26% 25% 25%
BCDHI B BC* ** ** ** B* B*
71 5 5 8 8 2 - - 18 26
Don’t know 7% 1% 3% 6% 11% 10% - - 26% 20%
A A* * ¥ * ¥ * ¥ ABC* ABC*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




Now that Justin Trudeau has resigned, how likely would you be to consider voting for the Liberal Party in the next federal election?

e e e T

The The Liberal | The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
233 14 130 40 13 7 15 - 4 12
Top 2 Box (Net) 23% 4% 81% 29% 19% 34% 45% - 5% 9%
ACDHI AHI A* ** ** ** * A*
78 3 67 4 2 - 1 - - 1
Very likely 8% 1% 42% 3% 3% - 2% - - 1%
ACDHI * * ¥ * ¥ * ¥ * *
156 11 63 36 11 7 14 - 4 11
Fairly likely 16% 3% 39% 26% 16% 34% 43% - 5% 8%
ACDHI AHI A* ** ** ** * A*
570 339 14 68 53 7 16 12 36 26
Bottom 2 Box (Net) 57% 91% 9% 49% 76% 38% 48% 84% 53% 20%
BCDHI BI BCHI* ** ** ** BI* B*
197 87 13 38 21 3 7 2 18 11
Not very likely 20% 23% 8% 27% 30% 15% 20% 11% 26% 8%
Bl Bl Bl* * %k k¥ k¥ Bl* *
373 252 1 30 32 4 9 10 18 15
Not at all likely 37% 67% 1% 22% 46% 23% 28% 73% 27% 12%
BCDHI B BCI* ** ** ** B* B*
196 22 16 30 3 5 2 2 28 88
Don’t know 20% 6% 10% 22% 5% 28% 7% 16% 41% 70%
ABD * ** ** ** ABCD* ABCDH*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




What is your impression of the following potential replacements for Justin Trudeau as leader of the Liberal Party? - Chrystia Freeland

e e T T

The The Liberal | The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (8Q) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
288 64 84 59 26 9 13 3 3 27
Positive 29% 17% 53% 43% 37% 45% 38% 23% 5% 22%
AHl AHl AH * k¥ k¥ k¥ * H*
316 178 30 28 26 1 7 9 18 19
Negative 32% 48% 19% 20% 37% 3% 22% 68% 27% 15%
BCHI Bcl* * ¥ * ¥ * ¥ * *
396 132 45 51 18 10 13 1 46 80
Don’t know enough about them to say 40% 35% 29% 37% 26% 51% 40% 9% 68% 63%
* * %k k¥ k¥ ABCD* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




What is your impression of the following potential replacements for Justin Trudeau as leader of the Liberal Party? - Melanie Joly

e T T

The The Liberal | The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
152 30 48 22 31 1 7 2 2 9
Positive 15% 8% 30% 16% 44% 3% 22% 16% 3% 7%
ACHI AH ACHI* ** ** ** * *
258 139 29 31 19 3 8 3 9 17
Negative 26% 37% 18% 22% 28% 17% 23% 18% 14% 14%
BCHI * * ¥ * ¥ * ¥ * *
590 204 83 86 19 15 18 9 56 100
Don’t know enough about them to say 59% 55% 52% 62% 28% 80% 55% 65% 83% 79%
D D D * ** ** ** ABCD* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




What is your impression of the following potential replacements for Justin Trudeau as leader of the Liberal Party? - Francois-Philippe Champagne

e e e T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
89 19 28 14 18 1 4 1 2 4
Positive 9% 5% 18% 10% 26% 4% 11% 7% 3% 3%
AHl | ACHl* k¥ k¥ k¥ * *
197 108 21 23 10 4 6 3 9 13
Negative 20% 29% 13% 16% 15% 20% 17% 21% 14% 11%
Bcl * * %k * ¥ * ¥ * *
714 248 110 102 41 14 24 10 57 108
Don’t know enough about them to say 71% 66% 69% 74% 59% 76% 72% 72% 84% 86%
* * %k k¥ k¥ AD* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




What is your impression of the following potential replacements for Justin Trudeau as leader of the Liberal Party? - Mark Carney

e e T T T

The The Liberal | The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
167 52 54 33 5 2 3 2 2 15
Positive 17% 14% 34% 24% 7% 10% 9% 15% 3% 12%
ADHl ADHl * k¥ k¥ k¥ * *
208 128 22 17 12 1 9 3 8 7
Negative 21% 34% 14% 13% 18% 6% 28% 21% 11% 6%
BCDHI |* * ¥ * ¥ * ¥ * *
626 195 84 88 52 16 21 9 58 103
Don’t know enough about them to say 63% 52% 52% 64% 76% 84% 62% 63% 86% 82%
AB* * %k k¥ k¥ ABC* ABC*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




What is your impression of the following potential replacements for Justin Trudeau as leader of the Liberal Party? - Anita Anand

e T T

The The Liberal | The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
89 20 38 15 1 3 8 1 1 3
Positive 9% 5% 24% 11% 2% 16% 23% 7% 1% 3%
ACDHI | * k¥ k¥ k¥ * *
201 110 21 19 20 1 6 3 9 11
Negative 20% 29% 13% 14% 29% 6% 19% 26% 14% 8%
Bcl Bcl* * ¥ * ¥ * ¥ * *
709 244 100 104 48 15 19 9 58 112
Don’t know enough about them to say 71% 65% 63% 75% 69% 78% 58% 68% 85% 89%
* * %k k¥ k¥ AB* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




What is your impression of the following potential replacements for Justin Trudeau as leader of the Liberal Party? - Dominic LeBlanc

e e e T T

The The Liberal | The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
110 29 39 19 9 - 4 1 2 6
Positive 11% 8% 25% 14% 13% - 14% 7% 3% 5%
ACHl | * k¥ k¥ k¥ * *
219 130 19 19 12 4 7 10 9 10
Negative 22% 35% 12% 14% 18% 21% 21% 71% 13% 8%
BCDHI * * ¥ * ¥ * ¥ * *
672 216 102 100 48 15 21 3 57 110
Don’t know enough about them to say 67% 58% 64% 73% 69% 79% 65% 23% 84% 87%
A * * %k k¥ k¥ AB* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




What is your impression of the following potential replacements for Justin Trudeau as leader of the Liberal Party? - Sean Fraser

e e e T

The The Liberal | The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
60 13 22 11 4 2 5 - 1 2
Positive 6% 4% 14% 8% 5% 13% 14% - 1% 2%
AHl | * k¥ k¥ k¥ * *
175 92 29 18 10 3 5 3 10 5
Negative 18% 25% 18% 13% 15% 14% 16% 26% 15% 4%
CI | | |* * ¥ * ¥ * ¥ * *
765 269 108 109 55 14 23 10 57 118
Don’t know enough about them to say 76% 72% 68% 79% 80% 74% 70% 74% 84% 94%
* * %k k¥ k¥ * ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




What is your impression of the following potential replacements for Justin Trudeau as leader of the Liberal Party? - Christy Clark

e e T T

The The Liberal | The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
118 32 38 25 8 - 9 3 2 3
Positive 12% 8% 24% 18% 11% - 26% 19% 3% 2%
AHl AHl * k¥ k¥ k¥ * *
241 125 32 37 16 3 8 2 8 11
Negative 24% 33% 20% 27% 22% 16% 23% 16% 12% 9%
BHI | | |* * ¥ * ¥ * ¥ * *
641 218 90 76 46 16 17 9 58 112
Don’t know enough about them to say 64% 58% 56% 55% 67% 84% 50% 66% 85% 89%
* * %k k¥ k¥ ABC* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




If the following potential replacements for Justin Trudeau became leader of the Liberal Party before the next election, how likely would you be to consider voting
for the Liberal Party? - Chrystia Freeland

T T T e T T T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
236 37 107 47 13 3 10 1 2 16
Top 2 Box (Net) 24% 10% 67% 34% 19% 17% 31% 5% 2% 13%
ACDHI AHl H * k¥ k¥ k¥ * *
95 14 56 16 2 1 3 - 1 4
Very likely 10% 4% 35% 12% 2% 3% 8% - 2% 3%
ACDHI Al * * %k * ¥ * ¥ * *
141 23 51 31 11 3 8 1 1 13
Fairly likely 14% 6% 32% 23% 16% 14% 23% 5% 1% 10%
AHl AHl AH * * %k k¥ k¥ * *
494 289 25 47 44 9 18 12 26 24
Bottom 2 Box (Net) 49% 77% 16% 34% 63% 47% 53% 89% 39% 19%
BCHI BI BCHI* ** ** ** BI* *
155 60 20 15 22 7 9 1 10 12
Not very likely 15% 16% 13% 11% 31% 37% 26% 7% 15% 9%
ABC'* * %k k¥ k¥ * *
339 230 5 32 22 2 9 11 16 12
Not at all likely 34% 61% 3% 23% 32% 10% 27% 82% 24% 10%
BCDHI BI BI* ** ** ** BI* *
270 48 27 44 13 7 5 1 40 85
Don’t know 27% 13% 17% 32% 18% 36% 16% 7% 59% 68%
AB * ** ** ** ABCD* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




If the following potential replacements for Justin Trudeau became leader of the Liberal Party before the next election, how likely would you be to consider voting
for the Liberal Party? - Melanie Joly

T T T T e T T T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (8Q) Party of Would
Canada spoil ballot
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
146 20 76 18 14 3 9 - * 5
Top 2 Box (Net) 15% 5% 48% 13% 20% 15% 28% - 1% 4%
ACDHI AHI AHI* ** ** ** * *
50 9 30 5 4 - 1 - - 1
Very likely 5% 2% 19% 4% 6% - 2% - - 1%
ACH' * * %k * ¥ * ¥ * *
96 11 45 13 10 3 9 - * 5
Fairly likely 10% 3% 29% 9% 14% 15% 26% - 1% 4%
ACH' A AHl* * %k k¥ k¥ * *
518 288 37 64 43 9 18 12 23 24
Bottom 2 Box (Net) 52% 77% 23% 47% 61% 46% 55% 89% 34% 19%
BCDHI BI BHI* ** ** ** * *
176 59 26 34 20 6 5 2 10 15
Not very likely 18% 16% 16% 24% 28% 33% 14% 14% 15% 12%
| |* * %k k¥ k¥ * *
342 229 11 31 23 3 14 10 13 9
Not at all likely 34% 61% 7% 22% 33% 13% 41% 75% 19% 7%
BCDHI BI BI* ** ** ** B* *
336 66 47 56 13 7 5 2 44 96
Don’t know 34% 18% 29% 40% 19% 39% 17% 11% 66% 76%
A AD * ** ** ** ABCD* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




If the following potential replacements for Justin Trudeau became leader of the Liberal Party before the next election, how likely would you be to consider voting
for the Liberal Party? - Francois-Philippe Champagne

e T T e T T T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (8Q) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
109 12 59 10 8 2 10 - 1 7
Top 2 Box (Net) 11% 3% 37% 8% 11% 12% 29% - 2% 6%
ACDHI A* k¥ k¥ k¥ * *
37 4 26 4 - 1 1 - 1 -
Very likely 4% 1% 16% 3% - 4% 2% - 2% -
ACDHI * * %k * ¥ * ¥ * *
72 7 33 6 8 2 9 - - 7
Fairly likely 7% 2% 21% 5% 11% 8% 27% - - 6%
ACH' AH * * %k k¥ k¥ * *
515 281 36 71 46 9 13 11 23 24
Bottom 2 Box (Net) 52% 75% 23% 52% 67% 45% 41% 84% 34% 19%
BCHI BI BH I* * %k * ¥ * ¥ * *
166 56 27 37 14 6 4 1 10 11
Not very likely 17% 15% 17% 27% 20% 29% 13% 7% 15% 9%
Al * * %k k¥ k¥ * *
349 225 9 34 32 3 9 11 13 12
Not at all likely 35% 60% 6% 25% 46% 16% 28% 78% 19% 10%
BCHI BI BCHI* ** ** ** B* *
376 82 64 56 15 8 10 2 43 94
Don’t know 38% 22% 40% 41% 22% 42% 30% 16% 64% 75%
A AD * ** ** ** ABCD* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




If the following potential replacements for Justin Trudeau became leader of the Liberal Party before the next election, how likely would you be to consider voting for
the Liberal Party? - Mark Carney

T T T T e T T T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (8Q) Party of Would
Canada spoil ballot
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
174 28 84 32 3 2 9 1 1 14
Top 2 Box (Net) 17% 7% 53% 23% 4% 10% 26% 11% 1% 11%
ACDHI ADHl * k¥ k¥ k¥ * *
68 8 43 10 2 1 1 - - 3
Very likely 7% 2% 27% 7% 3% 3% 3% - - 2%
ACDHI A * * %k * ¥ * ¥ * *
106 20 41 22 1 1 8 1 1 11
Fairly likely 11% 5% 26% 16% 2% 7% 23% 11% 1% 9%
ADH' ADH * * %k k¥ k¥ * *
463 273 21 46 49 9 18 11 21 16
Bottom 2 Box (Net) 46% 73% 13% 33% 71% 47% 55% 78% 31% 13%
BCHI BI BCHI* ** ** ** BI* *
160 68 17 26 18 6 4 1 10 11
Not very likely 16% 18% 11% 19% 25% 32% 13% 4% 14% 8%
| | Bl* * %k k¥ k¥ * *
304 205 4 20 31 3 14 10 11 5
Not at all likely 30% 55% 3% 14% 45% 14% 42% 73% 17% 4%
BCHI BI BCHI* ** ** ** BI* *
363 74 54 60 17 8 6 2 46 95
Don’t know 36% 20% 34% 44% 25% 43% 19% 11% 68% 76%
A AD * ** ** ** ABCD* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




If the following potential replacements for Justin Trudeau became leader of the Liberal Party before the next election, how likely would you be to consider voting
for the Liberal Party? - Anita Anand

T T T e T T T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (8Q) Party of Would
Canada spoil ballot
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
126 13 69 18 10 3 6 - - 7
Top 2 Box (Net) 13% 4% 43% 13% 15% 14% 20% - - 6%
ACDHI AH AH * k¥ k¥ k¥ * *
47 5 35 1 2 1 1 - - 1
Very likely 5% 1% 22% * 3% 7% 4% - - 1%
ACDHI * * %k * ¥ * ¥ * *
80 8 33 17 9 1 5 - - 6
Fairly likely 8% 2% 21% 12% 12% 7% 15% - - 5%
AHl AH AH * * %k k¥ k¥ * *
511 288 35 59 43 9 19 12 24 23
Bottom 2 Box (Net) 51% 77% 22% 43% 62% 46% 58% 89% 35% 18%
BCHI BI BCHI* ** ** ** * *
151 51 29 23 11 6 4 1 11 13
Not very likely 15% 14% 18% 17% 16% 32% 12% 11% 16% 11%
* * %k k¥ k¥ * *
361 237 6 35 32 3 15 11 13 10
Not at all likely 36% 63% 4% 26% 46% 13% 46% 78% 19% 8%
BCDHI BI BCHI* ** ** ** B* *
362 73 56 62 16 8 8 2 44 96
Don’t know 36% 19% 35% 45% 23% 40% 23% 11% 65% 76%
A AD * ** ** ** ABCD* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




If the following potential replacements for Justin Trudeau became leader of the Liberal Party before the next election, how likely would you be to consider voting for
the Liberal Party? - Dominic LeBlanc

T T T e T T T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
130 16 67 19 7 1 11 1 1 7
Top 2 Box (Net) 13% 4% 42% 14% 10% 4% 33% 4% 1% 6%
ACDHI AH * k¥ k¥ k¥ * *
40 7 28 1 - - 2 - 1 -
Very likely 4% 2% 18% 1% - - 6% - 1% -
ACDHI * * %k * ¥ * ¥ * *
90 9 39 18 7 1 9 1 - 7
Fairly likely 9% 2% 24% 13% 10% 4% 27% 4% - 6%
ACH' AH A* * %k k¥ k¥ * *
498 277 30 61 50 9 15 11 22 22
Bottom 2 Box (Net) 50% 74% 19% 44% 73% 47% 47% 84% 33% 18%
BCHI BI BCHI* ** ** ** * *
164 58 24 27 24 6 4 1 10 10
Not very likely 16% 16% 15% 20% 34% 31% 12% 7% 14% 8%
| AB'* * %k k¥ k¥ * *
334 219 6 33 27 3 12 11 12 12
Not at all likely 33% 58% 4% 24% 39% 16% 35% 78% 18% 9%
BCDHI BI BI* ** ** ** B* *
372 81 63 58 12 9 7 2 45 96
Don’t know 37% 22% 39% 42% 17% 49% 20% 11% 66% 76%
AD AD * ** ** ** ABCD* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




If the following potential replacements for Justin Trudeau became leader of the Liberal Party before the next election, how likely would you be to consider voting for
the Liberal Party? - Sean Fraser

T T T T e T T T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (8Q) Party of Would
Canada spoil ballot
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
111 10 67 11 5 1 13 - 1 2
Top 2 Box (Net) 11% 3% 42% 8% 7% 4% 40% - 2% 2%
ACDHI A * k¥ k¥ k¥ * *
42 3 31 4 2 - 1 - 1 -
Very likely 4% 1% 20% 3% 3% - 4% - 1% -
ACDHI * * %k * ¥ * ¥ * *
68 7 36 7 3 1 12 - * 2
Fairly likely 7% 2% 22% 5% 4% 4% 36% - 1% 2%
ACDH' * * %k k¥ k¥ * *
507 291 30 65 43 10 13 11 22 22
Bottom 2 Box (Net) 51% 78% 19% 47% 63% 50% 40% 78% 33% 18%
BCHI BI BH I* * %k * ¥ * ¥ * *
149 56 21 29 12 7 3 - 9 12
Not very likely 15% 15% 13% 21% 17% 34% 9% - 14% 10%
| * * %k k¥ k¥ * *
358 236 9 35 32 3 10 11 13 10
Not at all likely 36% 63% 6% 25% 46% 16% 31% 78% 19% 8%
BCHI BI BCHI* ** ** ** B* *
382 73 62 63 21 9 7 3 44 101
Don’t know 38% 19% 39% 45% 31% 46% 20% 22% 66% 80%
A A * ** ** ** ABCD* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




If the following potential replacements for Justin Trudeau became leader of the Liberal Party before the next election, how likely would you be to consider voting for
the Liberal Party? - Christy Clark

T T T T e T T T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
131 23 66 21 6 1 9 1 - 5
Top 2 Box (Net) 13% 6% 41% 15% 9% 7% 27% 4% - 4%
ACDHI AHl * k¥ k¥ k¥ * *
46 9 26 9 - - 1 - - 1
Very likely 5% 2% 16% 7% - - 4% - - *
ACDHI Al * * %k * ¥ * ¥ * *
85 15 39 11 6 1 7 1 - 4
Fairly likely 8% 4% 25% 8% 9% 7% 23% 4% - 3%
ACDH' * * %k k¥ k¥ * *
512 286 39 63 39 10 18 11 24 22
Bottom 2 Box (Net) 51% 76% 24% 46% 57% 51% 55% 84% 35% 18%
BCDHI BI BI* ** ** ** I* *
163 60 28 27 11 6 10 - 10 12
Not very likely 16% 16% 17% 20% 15% 31% 29% - 15% 10%
| * * %k k¥ k¥ * *
349 227 11 36 29 4 8 11 13 10
Not at all likely 35% 61% 7% 26% 41% 20% 25% 84% 20% 8%
BCDHI BI BI* ** ** ** B* *
357 65 55 54 24 8 6 2 44 99
Don’t know 36% 17% 35% 39% 35% 42% 19% 11% 65% 79%
A A A* ** ** ** ABCD* ABCD*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




If the following potential replacements for Justin Trudeau became leader of the Liberal Party before the next election, how likely would you be to consider voting for
the Liberal Party? - T2B Summary

T T T e T T T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
Chrystia Freeland 24% 10% 67% 34% 19% 17% 31% 5% 2% 13%
ACDHI AHl H* k¥ k¥ k¥ * *
146 20 76 18 14 3 9 - * 5
Melanie Joly 15% 5% 48% 13% 20% 15% 28% - 1% 4%
ACDHI AHI AHI* *x *x *x * *
109 12 59 10 8 2 10 - 1 7
Francois-Philippe Champagne 11% 3% 37% 8% 11% 12% 29% - 2% 6%
ACDH' A* * %k k¥ k¥ * *
174 28 84 32 3 2 9 1 1 14
Mark Carney 17% 7% 53% 23% 4% 10% 26% 11% 1% 11%
ACDHI ADH' * * ¥ * ¥ * ¥ * *
126 13 69 18 10 3 6 - - 7
Anita Anand 13% 4% 43% 13% 15% 14% 20% - - 6%
ACDH' AH AH* * %k k¥ k¥ * *
130 16 67 19 7 1 11 1 1 7
Dominic LeBlanc 13% 4% 42% 14% 10% 4% 33% 4% 1% 6%
ACDHI AH * * %k * ¥ * ¥ * *
111 10 67 11 5 1 13 - 1 2
Sean Fraser 11% 3% 42% 8% 7% 4% 40% - 2% 2%
ACDH' A * * %k k¥ k¥ * *
131 23 66 21 6 1 9 1 - 5
Christy Clark 13% 6% 41% 15% 9% 7% 27% 4% - 4%
ACDHI AHl * * %k * ¥ * ¥ * *




If the following potential replacements for Justin Trudeau became leader of the Liberal Party before the next election, how likely would you be to consider voting for
the Liberal Party? - B2B Summary

T T T e T T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (8Q) Party of Would
Canada spoil ballot
Chrystia Freeland 49% 77% 16% 34% 63% 47% 53% 89% 39% 19%
BCHI Bl BCHI* ** ** ** BI* *
518 288 37 64 43 9 18 12 23 24
Melanie Joly 52% 77% 23% 47% 61% 46% 55% 89% 34% 19%
BCDHI BI BHI* ** ** ** * *
515 281 36 71 46 9 13 11 23 24
Francois-Philippe Champagne 52% 75% 23% 52% 67% 45% 41% 84% 34% 19%
BCH' Bl BHl* * %k k¥ k¥ * *
463 273 21 46 49 9 18 11 21 16
Mark Carney 46% 73% 13% 33% 71% 47% 55% 78% 31% 13%
BCHI BI BCHI* ** ** ** BI* *
511 288 35 59 43 9 19 12 24 23
Anita Anand 51% 77% 22% 43% 62% 46% 58% 89% 35% 18%
BCHI BI BCHI* ** ** ** * *
498 277 30 61 50 9 15 11 22 22
Dominic LeBlanc 50% 74% 19% 44% 73% 47% 47% 84% 33% 18%
BCHI BI BCHI* ** ** ** * *
507 291 30 65 43 10 13 11 22 22
Sean Fraser 51% 78% 19% 47% 63% 50% 40% 78% 33% 18%
BCH' Bl BHl* * %k k¥ k¥ * *
512 286 39 63 39 10 18 11 24 22
Christy Clark 51% 76% 24% 46% 57% 51% 55% 84% 35% 18%
BCDHI BI BI* ** ** ** I* *




To what extent do you agree or disagree with the following statements? - Justin Trudeau’s resignation is too little, too late for the Liberal party

e e e T T T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
769 333 75 101 61 13 31 13 46 94
Top 2 Box (Net) 77% 89% 47% 73% 89% 70% 95% 97% 69% 75%
BCH' B BH* k¥ k¥ k¥ B* B*
349 230 11 31 26 4 9 4 11 24
Strongly agree 35% 62% 7% 22% 37% 20% 27% 29% 16% 19%
BCDHI B BI* * %k * ¥ * ¥ * B*
420 103 64 71 36 10 22 9 36 70
Somewhat agree 42% 27% 40% 51% 52% 50% 68% 69% 53% 56%
A A A* * %k k¥ k¥ A* AB*
231 41 84 37 8 6 2 * 21 31
Bottom 2 Box (Net) 23% 11% 53% 27% 11% 30% 5% 3% 31% 25%
ACDHI A * * %k * ¥ * ¥ AD* A*
194 32 76 30 7 5 1 * 17 25
Somewhat disagree 19% 8% 48% 22% 10% 27% 4% 3% 26% 20%
ACDH' A * * %k k¥ k¥ A* A*
36 9 9 7 1 1 * - 4 6
Strongly disagree 4% 3% 5% 5% 1% 3% 1% - 6% 5%
* * %k * ¥ * ¥ * *
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements? - Even with Trudeau gone as leader, the Liberals will struggle to win the next election

e e e

The The Liberal | The New | The Bloc [ The Green The Or some | Would not Don't
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would sure
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
858 346 124 113 63 17 32 13 50 101
Top 2 Box (Net) 86% 92% 78% 82% 91% 87% 96% 97% 73% 80%
BCH' * k¥ k¥ k¥ * *
441 257 39 44 35 5 15 12 11 25
Strongly agree 44% 69% 24% 32% 50% 27% 44% 86% 16% 20%
BCDHI BHl* * %k * ¥ * ¥ * *
417 89 85 69 28 12 17 2 39 76
Somewhat agree 42% 24% 53% 50% 41% 61% 52% 11% 58% 61%
A A A* * %k k¥ k¥ A* AD*
142 29 36 25 6 2 1 * 18 25
Bottom 2 Box (Net) 14% 8% 22% 18% 9% 13% 4% 3% 27% 20%
A A * * %k * ¥ * ¥ A* A*
118 20 30 21 6 2 1 * 15 22
Somewhat disagree 12% 5% 19% 15% 9% 13% 2% 3% 22% 17%
A A * * %k k¥ k¥ A* A*
23 8 5 4 - - 1 - 3 3
Strongly disagree 2% 2% 3% 3% - - 2% - 5% 2%
* * %k * ¥ * ¥ * *
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements? - A new Liberal leader is exactly what the Liberal party needs to revive itself

e e e T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
710 232 124 118 54 15 23 2 42 100
Top 2 Box (Net) 71% 62% 78% 85% 78% 80% 70% 18% 62% 79%
A AH * k¥ k¥ k¥ * A*
245 62 48 47 31 1 7 1 15 34
Strongly agree 25% 17% 30% 34% 45% 8% 20% 4% 22% 27%
A A A* * %k * ¥ * ¥ * A*
465 170 77 71 23 14 17 2 27 66
Somewhat agree 47% 45% 48% 51% 33% 73% 50% 14% 40% 52%
* * %k k¥ k¥ * *
290 142 35 21 15 4 10 11 25 26
Bottom 2 Box (Net) 29% 38% 22% 15% 22% 20% 30% 82% 38% 21%
BCI * * %k * ¥ * ¥ c* *
185 77 30 14 11 2 6 8 18 18
Somewhat disagree 18% 21% 19% 10% 16% 13% 17% 62% 27% 14%
C * * %k k¥ k¥ C* *
105 65 5 7 4 1 4 3 7 8
Strongly disagree 10% 17% 3% 5% 6% 7% 13% 20% 10% 6%
BCI * * %k * ¥ * ¥ * *
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements? - Justin Trudeau will leave a strong legacy for the Liberal party

e e e T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (8Q) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
336 58 115 55 23 9 16 3 10 47
Top 2 Box (Net) 34% 16% 72% 40% 34% 46% 48% 19% 15% 37%
ACDHI AH A* ** ** ** * AH*
91 20 33 14 11 2 1 1 * 9
Strongly agree 9% 5% 21% 10% 15% 10% 4% 5% 1% 7%
ACH' AH * * %k * ¥ * ¥ * *
245 38 82 41 13 7 15 2 10 38
Somewhat agree 25% 10% 52% 30% 18% 36% 44% 14% 15% 30%
ACDH' A * * %k k¥ k¥ * A*
664 316 44 83 46 10 17 11 57 79
Bottom 2 Box (Net) 66% 84% 28% 60% 66% 54% 52% 81% 85% 63%
BCDI B B* ** ** ** BCI* B*
300 82 37 54 26 5 7 1 37 52
Somewhat disagree 30% 22% 23% 39% 37% 27% 21% 9% 54% 42%
AB A* * %k k¥ k¥ AB* AB*
363 234 7 29 20 5 10 10 20 27
Strongly disagree 36% 63% 5% 21% 29% 26% 32% 72% 30% 21%
BCDHI B B* * %k * ¥ * ¥ B* B*
1000 374 159 138 69 19 33 14 68 126
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements? - Justin Trudeau did the best he could during his time in office

e e e e T T

The The Liberal | The New | The Bloc [ The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |

Base: All Respondents (unwtd) 1000 317 202 179 55 19 30 12 53 133
Base: All Respondents (wtd) 1000 374 159 138 69 19 33 14 68 126
392 62 133 70 36 10 12 4 16 51

Top 2 Box (Net) 39% 17% 83% 51% 52% 50% 35% 28% 23% 40%
ACDHI AH AH* ** ** ** * A*
100 5 52 20 8 1 3 - 2 10
Strongly agree 10% 1% 32% 15% 11% 3% 8% - 3% 8%
ACDHI A A* * %k * ¥ * ¥ * A*
293 57 81 49 29 9 9 4 14 41

Somewhat agree 29% 15% 51% 36% 41% 46% 27% 28% 21% 33%
ACH' A A* * %k k¥ k¥ * A*
608 312 27 68 33 10 21 10 52 75

Bottom 2 Box (Net) 61% 83% 17% 49% 48% 50% 65% 72% 77% 60%
BCDI B B* *x *x *x BCD* B*
291 96 21 50 22 5 15 2 36 44

Somewhat disagree 29% 26% 13% 36% 32% 27% 44% 14% 54% 35%
B B B* * %k k¥ k¥ AB* B*
316 216 6 19 11 4 7 8 15 31

Strongly disagree 32% 58% 4% 13% 15% 23% 20% 58% 23% 24%
BCDHI B B* *x *x *x B* BC*

1000 374 159 138 69 19 33 14 68 126

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%




To what extent do you agree or disagree with the following statements? - T2B Summary

e e e T T T

The The Liberal | The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
769 333 75 101 61 13 31 13 46 94
Justin Trudeau’s resignation is too little, too late for the
Liberal party 77% 89% 47% 73% 89% 70% 95% 97% 69% 75%
BCH' B BH* *k *k *k B* B*
858 346 124 113 63 17 32 13 50 101
Even with Trudeau gone as leader, the Liberals will struggle
to win the next election 86% 92% 78% 82% 91% 87% 96% 97% 73% 80%
BCH' * *% *% *% * *
710 232 124 118 54 15 23 2 42 100
A new Liberal leader is exactly what the Liberal party needs
to revive itself 71% 62% 78% 85% 78% 80% 70% 18% 62% 79%
A AH * *% *% *% * A*
336 58 115 55 23 9 16 3 10 47
Justin Trudeau will leave a strong legacy for the Liberal party 34% 16% 72% 40% 34% 46% 48% 19% 15% 37%
ACDHI AH A* ** ** ** * AH*
392 62 133 70 36 10 12 4 16 51
Justin Trudeau did the best he could during his time in
office 39% 17% 83% 51% 52% 50% 35% 28% 23% 40%
ACDHI AH AH* ** ** ** * A*




To what extent do you agree or disagree with the following statements? - B2B Summary

e e e T T T

The The Liberal | The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's |other party [vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
231 41 84 37 8 6 2 * 21 31
Justin Trudeau’s resignation is too little, too late for the
Liberal party 23% 11% 53% 27% 11% 30% 5% 3% 31% 25%
ACDHI A * *k *k * kK AD* A*
142 29 36 25 6 2 1 * 18 25
Even with Trudeau gone as leader, the Liberals will struggle
to win the next election 14% 8% 22% 18% 9% 13% 4% 3% 27% 20%
A A * *% *% *% A* A*
290 142 35 21 15 4 10 11 25 26
A new Liberal leader is exactly what the Liberal party needs
to revive itself 29% 38% 22% 15% 22% 20% 30% 82% 38% 21%
BCI * *% *% *% C* *
664 316 44 83 46 10 17 11 57 79
Justin Trudeau will leave a strong legacy for the Liberal party 66% 84% 28% 60% 66% 54% 52% 81% 85% 63%
BCDI B B* ** ** ** BCI* B*
608 312 27 68 33 10 21 10 52 75
Justin Trudeau did the best he could during his time in
office 61% 83% 17% 49% 48% 50% 65% 72% 77% 60%
BCDI B B* ** ** ** BCD* B*




